
 ͷ ݁ܿ�ܿݎ݁�ܧ

� ݁ܿ�ݎݐܽ݉ ݈ܽ ݐ�݋ܵ = ( −ʹ −ͳ ʹ−ͳͷ −͸ ͳͳ−ͳͶ −͸ ͳͳ) ܲ ݐ݁  = (ͳ Ͳ Ͳͳ ͵ Ͳʹ ʹ ͳ). 
ܶ ݁ܿ�ݎݐܽ݉ ݈ܽ ݎ݈݁ݑ݈ܿܽܥ (ܾ .ଵ−ܲ ݎ݈݁ݑ݈ܿܽܿ ݐ݁ ݈ܾ݁�ݏݎ݁ݒ݊� ݐݏ݁ ܲ ݁ݑݍ ݎ݁ݎݐ݊݋ܯ (ܽ (1 = ܲ−ଵ�ܲ; ,ܲ ݁݀ ݊݋�ݐܿ݊݋݂ ݊݁ � ݎ݁݉�ݎ݌�ܧ (ܿ  ? ݊݋ ݐ ݁ݐܽݐݏ݊݋ܿ ݁ݑܳ ܲ−ଵ ݁ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁ݎݐ݊݋ܯ (݀ .ܶ ݐ ݊, �� ܽ ݊݋ = ܲܶ�ܲ−ଵ. 
2) ܽ) ܱ݊ ݀é݂�݊�ݎܽ݌ ܰ ݁ܿ�ݎݐܽ݉ ݈ܽ ݐ ܶ = � + ܰ. �ܰ ݁ݎ�ݑé݀݀ ݊ܧ .ଷܰ ݐଶ݁ܰ ݎ݈݁ݑ݈ܿܽܥ ݇ ݐݑ݋ݐ ݎݑ݋݌  ≥ ,݊ ݁݀ ݊݋�ݐܿ݊݋݂ ݊݁ �ܶ ݎ݁݊�݉ݎ݁ݐéܦ (ܾ .͵ �, ଵ−ܲܰܲ ݁ݑݍ ݎ݁ݎݐ݊݋ܯ (ܿ .ݐ݊݁݉݁ݑݍ�݊ݑ ݊ ݁݀ ݏ�ݑ݌ଶܰ ݐ݁ ܰ = � − ଶܲ−ଵܰܲ ݁ݑݍ ݐ݁ � = �ଶ − ʹ� + ,݊ ݁݀ ݊݋�ݐܿ݊݋݂ ݊݁ �� ݁݀ ݊݋�ݏݏ݁ݎ݌�݁′݈ ݎ݁݊݊݋ܦ (݀ .� �,  .ଶ� ݐ݁ �

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 


